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Name: Date: __Period

Unit 2 Test Review

Properties:

Original Eé{ﬁﬂ?loﬁ |

4x~8=12 Associative property of Addition
s 2 Div. PoE

bx+ 14=128 | Original Equation

éx=-12 Bl Gabtvacton Pog

X=-02 W o foE

Solve the formula for the indicated variable. Show all of your work.

S.Forr 'V =mrh 6.Fory: 7x+ 14y =-21 7. For h: Vngh
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Solve for x for each equation. Show all work.
8. —6x+5x=-7 9. a—4(3a+6)=-112 10.  5(1-6r)=-19-6r
= =" A-12a-D4=-> 5. = g = sl Al
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Solve for x for each inequality. Show all work.

1. —7>-8—x+2x 12. 90 <6la-7)
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13, 2+6m< —7(f2m - 6)

J tlm < Wm +4y
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Graph each linear equation. Identify the key characteristics for each.

14. 2x-y=4  =Y=- %+ 4 5.
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Slope Intercept Form: \A = 2t L(-
xintercept: ( 2(0)

Domain: [ = GO, o)

Range: ( ~ 0, & )

f(3): 2

fix) = 4x= L

End Behavior

x = oo f(x) »_ QO

x-»—oof(x)—e"‘CQ

4x +3y=3

w Y
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Slope Intercept Form: \j -
=z
2

yintercept: ( O, )
Domain: ( = 00, OO )
Range: ( - o, )

=4 59

fx) = 4x=- 2

t{a):

End Behavior
x> wf(x) > a0
x> —wf(x) > 08
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Determine if the sequence is arithmetic. If it is, find the common difference. \

16.-3, -23, -43, -63, ... 1£.9; 14; 18, 2150
d- = 2o d= 3
Given the explicit formulaq, find the first 3 terms and the term named in the problem.
18. a =-11+7n (22 | Z e .L-i 19. “,, — 65 — 100n (o2 \ = 5:;)'
Find a, a et z 3 Finda,, L v
“Y STC8H=1D =10 S i »m 4 =10l 34+1) ¥ o
227 AQ3s
leen the first term and the common difference, wnie ihe exphcit or closed form.
20. a!-z& d=10 21. aE:—34, d=-10 _
Oon 5 agtr0(n=1) Op ® =3Y = 10l 1)
z On 418 o (0oNn ~ 24
Given the first term and the common difference, write the recursive formula.
22. {;' =39 fd=-5 23. 6?] 2“‘26, d =200
Xp Ci,{\ | “S oy Ay ~+ 200

24. Write an expression to represent the total cost of x tickets to a fair discounted 30%.
. 10X

25. Willis building a sand box for his son to play in. The length is 2 feet more than 4 times the width.
The perimeter is 224 feet. Find the length and width of the sandbox. f = 2 AW

DOH = 2 Al Tw T THW TW W
Solf = 2—{ (oW SZ: D=t 21))
S jz‘—%ﬁ

26. Sara wants to have an average of at least a 200on her tésts. f she took three tests and earned a
83, 95, and 88, what is the lowest grade she has to earn on the fourth test2
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27. Four consecu’riv@’regers add up o 352 rte an equation and find the 4 numbers.
: : 1 LS ¥ oD
X% 4+ Xy XY e - acsy g = 8
4N+ (2 = 355 %S 67 89 Q|

Use the two functions given to answer the questions below. f(x) =2x? —x+1 g(x) =3x?+3x—4

28. f(L+g9(-2) (f"{-) 29. flx)—g(x) 30. 2f(¥)+39()© ,
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